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1) Kelvin (°K) is the unit of temperature in
(A) SI System (B) FPS System

(C) MKS System (D) CGS System

2) The property ‘variation of volume of a liquid with temperature’ is used in
construction of

(A) Thermos Flask
(B) Pressure Gauge
(C) Barometer

(D) Thermometer

3) —273.15°C on Celsius scale of temperature is equal to
(A) 0Kelvin (B) -100Kelvin

(C) 100Kelvin (D) None

4) A balloon is partially inflated and on placing it in warm water the balloon
(A) decreases in size (B) increases in size

(C) remains same (D) None of these

5) Coefficient of linear expansion is maximum for
(A) Aluminium : (B) Copper

(C) Silver ' (D) Lead
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6)

7)

8)

9)

10)
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Water is used as a cooling liquid in a car radiator and as well as a warming
liquid in a hot water bag because of its

(A) low viscosity (B) low density

(C) high specific heat capacity (D) none

A device in which heat measurement can be made is called

(A) Thermometer ' (B) Calorimeter

(C) Flame photometer (D) None

The temperature at which the liquid and vapour states of a substance coexist is
called as

(A) melting point (B) vaporisation

(C) boiling point (D) none

The heat transferred during change of state of a substance is called as
(A) specific heat (B) latent heat

(C) sensible heat (D) none

The change from solid state to vapour state without passing through the liquid
state is called

(A) fusion (B) sublimation

(C) wvaporisation (D) none
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11) Heat transfer takes place by

(A) conduction (B) convection

(C) radiation (D) all of these

12) The rate of flow of heat depends on

(A) temperature difference (B) area of cross section

(C) length (D) all of these

13) Conduction takes place in
(A) liquids (B) solids

(C) gases (D) all of these

14) The type of heat transfer taking place with the help of electromagnetic waves is
called '

(A) radiation (B) conduction

(C) convection (D) none

15) The statement ‘at all points along a streamline in an ideal fluid in steady
flow, the sum of pressure energy, potential energy, and kinetic energy per
unit mass remains constant’ 1S known as

(A) Dalton’s Law (B) Pascal’s Law

(C) Bernouli’s Principle (D) Archemedes’ Principle
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16) The pressure ‘P’ at a depth ‘h’ below the surface of a liquid of density ‘p’open

to atmospheric pressure P is given by
(A) P=P, +pgh

(B) P=P,, —pgh

(€) P=P,, (pgh)

(D) none

17) The density of water is
(A) 10 kg/m’ (B) 100 kg/m?

(C) 1000 kg/m? (D) None of these

18) Viscosity of a liquid is directly proportional to i

(A) pressure (B) temperature
(C) volume (D) none
19) Higher viscosity of a liquid favours flow.
(A) streamline (B) turbulent
(C) no (D) none
20) Lower viscosity of a liquid causes flow.
(A) turbulent (B) streamline
(C) large (D) none
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21) The statement ‘at a constant pressure, the volume of a fixed mass of g&s is
directly proportional to its absolute temperature’ (V o T) is known as

(A) Charles’ Law (B) Boyle’s Law

(C) Avogadro’s law (D) none of these

22) The relation p/ p,= V,/ V, is known as
(A) Charles’ Law (B) Boyle’s Law

(C) Avogadro’s law (D) none of these

23) The number of molecules in one mole of a gas is known as
(A) Avogadro Constant (B) Gas constant

(C) Mole fraction (D) none

24) The relation pV = nRT is known as
(A) Charles’ Law (B) Boyle’s Law

(C) Ideal gas equation "~ (D) Combined gas law

25) Carbdlhydrates are
(A) Optically active
(B) aldoses or ketoses
(C) sweet in taste

(D) all ofthese
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26) Sucrose on acid hydrolysis yields
(A) Glucose (B) Fructose

(C) glucose & fructose (D) none of these

27) Glycosidic linkage present in sucrose makes it
(A) anonreducing sugar
(B) areducing sugar
(C) dextro rotatory
(D) leavo rotatory
28) Commercially glucose is obtained by hydrolysis of
(A) Sucrqse - (B) Starch

(C) cellulose : (D) none of these

29) Sucrose on hydrolysis yields invert sugar which is
(A) dextro rotatory (B) laevo rotatory

(C) optically inactive (D) none of these

30) The amino acids which are not synthesised in the body and must be obtained
through diet are categorised as

(A) essential (B) non-essential
(C) proteins (D) none
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31) The pH at which an amino acid does not migrate under the influence of an

electric field is called the of amino acid.
(A) isoelectric point (B) zeta potential
(C) neutral point (D) none

32) Proteins are of a-amino acids.
(A) monomers (B) polymers
(C) building blocks (D) none

33) Proteins are classified as
(A) simple proteins (B) conjugated proteins
(C) derived proteins (D) all of these

34) Common example of globular protein is
(A) Insulin (B) keratin
(C) myosin (D) none

35) Denaturation of protein is brought by
(A) Heating (B) change in pH

(C) both ‘A & B’ (D) none

36) A solution of solid in liquid exists as

(A) unsaturated solution (B) saturated solution
(C) supersaturated solution (D) all of these

37) The solubility of gas in a liquid with increase in pressure.
(A) decreases (B) remains same
(C) increases (D) none
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45) The types corrosion are
(A) Chemical corrosion (B) Electrochemical corrosion
(C) both ‘A & B’ (D) none

46) Conversion of metals into compounds at high temperature is known as
(A) Wet corrosion - (B) Dry corrosion
(C) both ‘A & B’ (D) none of these

47) Iron rust is
(A) Fe (OH), (B) Fe,0, 2H,0
(C) FeO (D) FeSO,

48) During galvanisation Iron is coated with
(A) Zinc (B) Copper
(C) Lead (D) Chromium

49) Crystals exist in __ basic forms known as ‘crystal systems’.

A) 7 (B) 14
€) 3 (D) none of these

50) Heat transfer in a conductor from point ‘A’ which is at T, °C to point ‘B’ which
is at T, °C takes place when

(AT, =T, By T.=F
(O L, <l (D) none
X X X
M-2144 [10]




38) The range of colloidal particle size varies between
(A) H#=1000nm " (B) 1000-10000 nm
(C) 10000-100000 nm (D) none

39) Heating a lyophobic sol (colloid) results in
(A) coagulation or precipitation (B) brownian movement

(C) Tyndall effect (D) none

40) The amount of chemical reaction taking place at any electrode during electrolysis
by a current is proportional to the quantity of

(A) quantity of electrolytes (B) concentration
(C) quantity of electricity (D) none

41) The inverse of resistivity is called

(A) conductivity (B) specific resistance
(C) potential difference (D) none
42) Strong electrolytes ionise in concentrated solution.
(A) partially (B) completely
(C) sparingly (D) none

43) The hydronium ion is :
(A). HO! @) H
(€) H O (D) none

44) Negative logarithm of the H™ concentration of a solution is known as

(A) Acidity (B) pH
(C)..pOH (D) none
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ROUGH WORK
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